Exec: CherryPickEvents.exe

Input: /nashome/c/cwret/data/tms/dune_nd_production_2022 vl/test_production.root

Output: test_production_Deposits.pdf



X (m)

Event 1, all true hits, v PDG: 14, EV=1.32 GeV, Eu=1.17 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1, all true hits and traj., v PDG: 14, E =1.32 GeV, Eu:1.17 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 11, all true hits, v PDG: 14, Ev:13.12 GeV, Eu:11.23 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,

____________________________________________

4 6 8 10 12 14 16 18
z (M)

N w
o1
Energy deposit (MeV)

N

=
o

0.5



11.23 GeV

13.12 GeV, Eu=

Event 11, all true hits and traj., v PDG: 14, E,
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X (m)

Event 56, all true hits, v PDG: 14, EV:1.34 GeV, EH:O.51 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 56, all true hits and traj., v PDG: 14, E =1.34 GeV, Eu=0.51 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 67, all true hits, v PDG: 14, E =6.69 GeV, Eu:1.30 GeV
nu:14,tgt:1000060120,N:2212,9:1(v),proc:Weak[CC],DIS,
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6.69 GeV, E

\

Event 67, all true hits and traj., v PDG: 14, E
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X (m)

Event 103, all true hits, v PDG: 14, E =1.13 GeV, Eu:0.59 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 103, all true hits and traj., v PDG: 14, E =1.13 GeV, Eu=0.59 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 146, all true hits, v PDG: 14, E =4.14 GeV, Eu:2.78 GeV
nu:14,tgt:1000180400,N:2212,9:1(v),proc:Weak[CC],DIS,
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Event 146, all true hits and traj., v PDG: 14, E
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X (m)

Event 153, all true hits, v PDG: 14, E =0.72 GeV, Eu:0.49 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 153, all true hits and traj., v PDG: 14, E =0.72 GeV, Eu=0.49 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 202, all true hits, v PDG: 14, E =1.53 GeV, Eu:1.05 GeV
nu:14,tgt:1000180400,N:2000000200,proc:Weak[CC],MEC,
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X (m)

Event 202, all true hits and traj., v PDG: 14, E =1.53 GeV, Eu=1.05 GeV

nu:14,tgt:1000180400,N:2000000200,proc:Weak[CC],MEC,
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X (m)

Event 207, all true hits, v PDG: 14, E =2.91 GeV, Eu:0.14 GeV
nu:14,tgt:1000180400,N:2212,9:1(v),proc:Weak[CC],DIS,
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Event 207, all true hits and traj., v PDG: 14, E
nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 235, all true hits, v PDG: 14, E =1.42 GeV, Eu:0.23 GeV
nu:14,tgt:1000180400,N:2212,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 242, all true hits, v PDG: 14, E =2.19 GeV, Eu:0.85 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:7,
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X (m)

Event 242, all true hits and traj., v PDG: 14, E =2.19 GeV, Eu=0.85 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:7,
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X (m)

Event 258, all true hits, v PDG: 14, E =1.69 GeV, Eu:0.16 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:10,
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Event 258, all true hits and traj., v PDG: 14, E =1.69 GeV, Eu:0.16 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:10,
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X (m)

Event 365, all true hits, v PDG: 14, E =3.67 GeV, Eu:0.88 GeV
nu:14,tgt:1000180400,N:2212,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 365, all true hits and traj., v PDG: 14, E =3.67 GeV, Eu:0.88 GeV
nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 367, all true hits, v PDG: 14, EV:1.20 GeV, Eu:0.79 GeV
nu:14,tgt:1000260560,N:2000000201,proc:Weak[CC],MEC,res:0,
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X (m)

Event 367, all true hits and traj., v PDG: 14, E =1.20 GeV, Eu=0.79 GeV
nu:14,tgt:1000260560,N:2000000201,proc:Weak[CC],MEC,res:0,
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X (m)

Event 395, all true hits, v PDG: 14, E =1.84 GeV, Eu:1.46 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 395, all true hits and traj., v PDG: 14, E =1.84 GeV, Eu=1.46 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 396, all true hits, v PDG: 14, E =1.66 GeV, Eu:0.55 GeV
nu:14,tgt:1000080160,N:2112,proc:Weak[CC],RES,res:2,
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X (m)

Event 396, all true hits and traj., v PDG: 14, E =1.66 GeV, Eu:0.55 GeV
nu:14,tgt:1000080160,N:2112,proc:Weak[CC],RES,res:2,
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X (m)

Event 408, all true hits, v PDG: 14, E =3.17 GeV, Eu:1.47 GeV
nu:14,tgt:1000180400,N:2212,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 408, all true hits and traj., v PDG: 14, E =3.17 GeV, Eu:1.47 GeV

nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 437, all true hits, v PDG: 14, E =1.75 GeV, Eu:0.45 GeV
nu:14,tgt:1000280590,N:2112,proc:Weak[CC],RES,res:5,
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X (m)

Event 437, all true hits and traj., v PDG: 14, E =1.75 GeV, Eu=0.45 GeV

nu:14,tgt:1000280590,N:2112,proc:Weak[CC],RES,res:5,
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X (m)

Event 458, all true hits, v PDG: 14, E =1.53 GeV, Euzl.OO GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 458, all true hits and traj., v PDG: 14, E =1.53 GeV, Eu=1.00 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 516, all true hits, v PDG: 14, E =1.87 GeV, Eu:1.55 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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x (m)

Event 516, all true hits and traj., v PDG: 14, E =1.87 GeV, Eu=1.55 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 528, all true hits, v PDG: 14, E =1.39 GeV, Eu:0.21 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:7,
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X (m)

Event 528, all true hits and traj., v PDG: 14, E =1.39 GeV, Eu=0.21 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:7,
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X (m)

Event 546, all true hits, v PDG: 14, E =3.27 GeV, Eu:1.48 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,

____________________________________________

4 6 8 10 12 14 16 18
z (M)

N w
o1
Energy deposit (MeV)

N

=
o

0.5



1.48 GeV

=

3.27 GeV, E

\

Event 546, all true hits and traj., v PDG: 14, E
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X (m)

Event 560, all true hits, v PDG: 14, E =2.61 GeV, Eu:1.62 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 560, all true hits and traj., v PDG: 14, E =2.61 GeV, Eu=1.62 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 563, all true hits, v PDG: 14, E =7.39 GeV, Eu:3.99 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,

____________________________________________

4 6 8 10 12 14 16 18
z (M)

N w
o1
Energy deposit (MeV)

N

=
o

0.5



3.99 GeV

7.39 GeV, Eu

\

Event 563, all true hits and traj., v PDG: 14, E
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X (m)

Event 595, all true hits, v PDG: 14, E =6.03 GeV, Eu:4.00 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:2,
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X (m)

Event 595, all true hits and traj., v PDG: 14, E =6.03 GeV, Eu:4.00 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:2,
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X (m)

Event 651, all true hits, v PDG: 14, E =2.56 GeV, EH:O.BO GeV
nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 656, all true hits, v PDG: 14, E =2.26 GeV, Eu:1.20 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:2,
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Event 656, all true hits and traj., v PDG: 14, E
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X (m)

Event 667, all true hits, v PDG: 14, E =2.54 GeV, Eu:1.44 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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x (m)

Event 667, all true hits and traj., v PDG: 14, E =2.54 GeV, Eu=1.44 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 672, all true hits, v PDG: 14, E =4.72 GeV, Eu:4.32 GeV
nu:14,tgt:1000180400,N:2000000200,proc:Weak[CC],MEC,
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Event 672, all true hits and traj., v PDG: 14, E
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X (m)

Event 698, all true hits, v PDG: 14, E =2.72 GeV, Eu:1.09 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 698, all true hits and traj., v PDG: 14, E =2.72 GeV, Eu:1.09 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 710, all true hits, v PDG: 14, E =2.39 GeV, Eu:0.98 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 732, all true hits, v PDG: 14, E =3.55 GeV, Eu:0.79 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 732, all true hits and traj., v PDG: 14, E =3.55 GeV, Eu:0.79 GeV
nu:14,tgt:1000180400,N:2112,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 733, all true hits, v PDG: 14, E =8.48 GeV, Eu:3.87 GeV
nu:14,tgt:1000260560,N:2212,9:1(v),proc:Weak[CC],DIS,
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Event 733, all true hits and traj., v PDG: 14, E =8.48 GeV, Eu:3.87 GeV

nu:14,tgt:1000260560,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 734, all true hits, v PDG: 14, E =0.34 GeV, Eu:0.28 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 734, all true hits and traj., v PDG: 14, E =0.34 GeV, Eu=0.28 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 745, all true hits, v PDG: 14, E =2.59 GeV, Eu:2.49 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 745, all true hits and traj., v PDG: 14, E =2.59 GeV, Eu=2.49 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 753, all true hits, v PDG: 14, E =4.38 GeV, Eu:3.41 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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Event 753, all true hits and traj., v PDG: 14, E
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X (m)

Event 757, all true hits, v PDG: 14, E =1.63 GeV, Eu:0.53 GeV
nu:14,tgt:1000240520,N:2112,proc:Weak[CC],RES,res:3,
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X (m)

Event 757, all true hits and traj., v PDG: 14, E =1.63 GeV, Eu=0.53 GeV
nu:14,tgt:1000240520,N:2112,proc:Weak[CC],RES,res:3,
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X (m)

Event 791, all true hits, v PDG: 14, E =8.71 GeV, Eu:6.71 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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6.71 GeV
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Event 791, all true hits and traj., v PDG: 14, E
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X (m)

Event 804, all true hits, v PDG: 14, E =2.19 GeV, Eu:0.99 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:7,
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0.99 GeV
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Event 804, all true hits and traj., v PDG: 14, E
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:7,
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X (m)

Event 866, all true hits, v PDG: 14, E =1.37 GeV, Eu:0.34 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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0.34 GeV
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Event 866, all true hits and traj., v PDG: 14, E
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X (m)

Event 920, all true hits, v PDG: 14, E =1.42 GeV, Eu:1.28 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 920, all true hits and traj., v PDG: 14, E =1.42 GeV, Eu=1.28 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 925, all true hits, v PDG: 14, E =0.92 GeV, Eu:0.22 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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0.22 GeV
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Event 925, all true hits and traj., v PDG: 14, E
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X (m)

Event 933, all true hits, v PDG: 14, E =4.11 GeV, Eu:4.04 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 933, all true hits and traj., v PDG: 14, E =4.11 GeV, Eu=4.04 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 948, all true hits, v PDG: 14, E =1.84 GeV, Eu:0.94 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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Event 948, all true hits and traj., v PDG: 14, E =1.84 GeV, Eu=0.94 GeV
nu:14,tgt:1000180400,N:2112,g:1(v),proc:Weak[CC],DIS,
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X (m)

Event 952, all true hits, v PDG: 14, E =4.39 GeV, Eu:3.12 GeV
nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 952, all true hits and traj., v PDG: 14, E =4.39 GeV, Eu=3.12 GeV
nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 969, all true hits, v PDG: 14, E =2.73 GeV, Eu:1.74 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 969, all true hits and traj., v PDG: 14, E =2.73 GeV, Eu:1.74 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 991, all true hits, v PDG: 14, E =2.78 GeV, Eu:1.13 GeV
nu:14,tgt:1000240520,N:2112,proc:Weak[CC],RES,res:11,
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X (m)

Event 1027, all true hits, v PDG: 14, Ev:O.27 GeV, Eu:O.ZO GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1027, all true hits and traj., v PDG: 14, E =0.27 GeV, Eu:O'ZO GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1038, all true hits, v PDG: 14, Ev:2.43 GeV, Eu:O.87 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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Event 1038, all true hits and traj., v PDG: 14, E =2.43 GeV, E =0.87 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 1043, all true hits, v PDG: 14, Ev:2.16 GeV, Eu:2.11 GeV
nu:14,tgt:1000250550,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1043, all true hits and traj., v PDG: 14, E =2.16 GeV, Eu:2'11 GeV
nu:14,tgt:1000250550,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1047, all true hits, v PDG: 14, Ev:1.69 GeV, Eu:1.58 GeV
nu:14,tgt:1000080160,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1047, all true hits and traj., v PDG: 14, E =1.69 GeV, Eu=1.58 GeV
nu:14,tgt:1000080160,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1090, all true hits, v PDG: 14, Ev:1.32 GeV, Eu:O.52 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1090, all true hits and traj., v PDG: 14, E =1.32 GeV, Eu:O'SZ GeV
nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1120, all true hits, v PDG: 14, Ev:3.56 GeV, Eu:2.50 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1120, all true hits and traj., v PDG: 14, E =3.56 GeV, E =2.50 GeV

nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1125, all true hits, v PDG: 14, Ev:O.62 GeV, Eu:O.37 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1125, all true hits and traj., v PDG: 14, E =0.62 GeV, E =0.37 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,

_____________________________________________

4 6 8 10 12 14 16 18
z (m)

SRS
(¢b)
=

2582
o
(¢D]
g®)
>
(@)

2 3
(-
L

1.5

1

0.5

0



X (m)

Event 1127, all true hits, v PDG: 14, EV:2.58 GeV, E“:2.26 GeV
nu:14,tgt:1000180400,N:2000000200,proc:Weak[CC],MEC,res:0,
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X (m)

Event 1127, all true hits and traj., v PDG: 14, E =2.58 GeV, Eu=2.26 GeV
nu:14,tgt:1000180400,N:2000000200,proc:Weak[CC],MEC,res:0,
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X (m)

Event 1143, all true hits, v PDG: 14, Ev:3.57 GeV, Eu:O.71 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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3.57 GeV, Eu:O'71 GeV

Event 1143, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
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X (m)

Event 1189, all true hits, v PDG: 14, Ev:3.68 GeV, Eu:O.26 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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0.26 GeV

3.68 GeV, E,

Event 1189, all true hits and traj., v PDG: 14, E,
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X (m)

Event 1201, all true hits, v PDG: 14, Ev:1.06 GeV, Eu:O.26 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1201, all true hits and traj., v PDG: 14, E =1.06 GeV, Eu=0.26 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1205, all true hits, v PDG: 14, Ev:4.18 GeV, Eu:O.16 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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4.18 GeV, Eu:0'16 GeV

Event 1205, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 1219, all true hits, v PDG: 14, Ev:1.02 GeV, Eu:O.28 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 1219, all true hits and traj., v PDG: 14, E =1.02 GeV, Eu=0.28 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 1255, all true hits, v PDG: 14, Ev:3.24 GeV, Eu:2.71 GeV
nu:14,tgt:1000250550,N:2112,proc:Weak[CC],QES,
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Event 1255, all true hits and traj., v PDG: 14, E,=3.24 GeV, Eu:2'71 GeV
nu:14,tgt:1000250550,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1270, all true hits, v PDG: -14, EV:7.54 GeV, Eu:7.04 GeV
nu:-14,tgt:1000180400,N:2212,proc:Weak[CC],QES,
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7.04 GeV

7.54 GeV, Eu
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X (m)

Event 1305, all true hits, v PDG: 14, Ev:2.27 GeV, Eu:O.13 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,

____________________________________________

4 6 8 10 12 14 16 18
z (M)

N w
o1
Energy deposit (MeV)

N

=
o

0.5



2.27 GeV, Eu:O'13 GeV

Event 1305, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000260560,N:2112,q:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1315, all true hits, v PDG: 14, Ev:4.12 GeV, Eu:3.89 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1315, all true hits and traj., v PDG: 14, E =4.12 GeV, E =3.89 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1332, all true hits, v PDG: 14, Ev:3.41 GeV, Eu:O.17 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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0.17 GeV

3.41 GeV, Eu

Event 1332, all true hits and traj., v PDG: 14, E,
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
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X (m)

Event 1369, all true hits, v PDG: 14, Ev:1.73 GeV, Eu:O.25 GeV
nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 13609, all true hits and traj., v PDG: 14, E =1.73 GeV, E =0.25 GeV
nu:14,tgt:1000180400,N:2212,q:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1380, all true hits, v PDG: -14, Ev:5.97 GeV, Eu:1.63 GeV
nu:-14,tgt:1000180400,N:2112,q:-1(s),proc:Weak[CC],DIS,
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1.63 GeV

Event 1380, all true hits and traj., v PDG: -14, E =5.97 GeV, E,
nu:-14,tgt:1000180400,N:2112,q:-1(s),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
Lo Lo
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X (m)

Event 1400, all true hits, v PDG: 14, Ev:2.01 GeV, Eu:1.96 GeV
nu:14,tgt:1000060120,N:2112,proc:Weak|[CC],QES,
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X (m)

Event 1400, all true hits and traj., v PDG: 14, E =2.01 GeV, Eu=1.96 GeV
nu:14,tgt:1000060120,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1417, all true hits, v PDG: 14, Ev:2.79 GeV, Eu:1.62 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:2,
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X (m)

Event 1417, all true hits and traj., v PDG: 14, E =2.79 GeV, E =162 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:2,
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X (m)

Event 1467, all true hits, v PDG: 14, Ev:2.40 GeV, Eu:1.33 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:1,
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Event 1467, all true hits and traj., v PDG: 14, E =2.40 GeV, Eu:1'33 GeV

nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:1,
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X (m)

Event 1497, all true hits, v PDG: 14, Ev:5.30 GeV, Eu:O.25 GeV
nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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5.30 GeV, E =0.25 GeV

Event 1497, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2212,q:1(v),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
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X (m)

Event 1535, all true hits, v PDG: 14, Ev:3.01 GeV, Eu:O.54 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1535, all true hits and traj., v PDG: 14, E =3.01 GeV, E =0.54 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 1543, all true hits, v PDG: 14, Ev:3.35 GeV, Eu:1.86 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:8,
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3.35 GeV, E =1.86 GeV

Event 1543, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:8,

(A3IN) usodap ABiau3
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X (m)

Event 1573, all true hits, v PDG: 14, Ev:O.21 GeV, Eu:O.14 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1573, all true hits and traj., v PDG: 14, E =0.21 GeV, Eu:0'14 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1575, all true hits, v PDG: 14, EV:1.78 GeV, E“:1.21 GeV
nu:14,tgt:1000180400,N:2000000201,proc:Weak[CC],MEC,res:0,
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X (m)

Event 1575, all true hits and traj., v PDG: 14, E =1.78 GeV, Eu:1'21 GeV
nu:14,tgt:1000180400,N:2000000201,proc:Weak[CC],MEC,res:0,
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X (m)

Event 1584, all true hits, v PDG: 14, Ev:1.38 GeV, Eu:O.95 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 1584, all true hits and traj., v PDG: 14, E =1.38 GeV, Eu:O'95 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 1596, all true hits, v PDG: 14, EV:O.84 GeV, E“:0.25 GeV
nu:14,tgt:1000180400,N:2000000201,proc:Weak[CC],MEC,res:0,
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X (m)

Event 1596, all true hits and traj., v PDG: 14, E =0.84 GeV, Eu:O'ZS GeV
nu:14,tgt:1000180400,N:2000000201,proc:Weak[CC],MEC,res:0,
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X (m)

Event 1612, all true hits, v PDG: 14, Ev:O.9O GeV, Eu:O.83 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1612, all true hits and traj., v PDG: 14, E =0.90 GeV, Eu=0.83 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1618, all true hits, v PDG: 14, Ev:3.53 GeV, Eu:1.98 GeV
nu:14,tgt:1000240520,N:2212,proc:Weak[CC],RES,res:0,
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Event 1618, all true hits and traj., v PDG: 14, E =3.53 GeV, Eu=1.98 GeV
nu:14,tgt:1000240520,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 1697, all true hits, v PDG: 14, Ev:2.44 GeV, Eu:2.13 GeV
nu:14,tgt:1000260560,N:2000000201,proc:Weak[CC],MEC,
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X (m)

Event 1697, all true hits and traj., v PDG: 14, E,=2.44 GeV, Eu:2'13 GeV
nu:14,tgt:1000260560,N:2000000201,proc:Weak[CC],MEC,
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X (m)

Event 1711, all true hits, v PDG: 14, Ev:3.26 GeV, Eu:O.37 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1711, all true hits and traj., v PDG: 14, E =3.26 GeV, E =0.37 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,

_________________

&

o9

4

6

8

10

12 14 16 18
z (m)

SRS
(¢b)
=

2582
o
(¢D]
g®)
>
(@)

2 3
(-
L

1.5

1

0.5

0



X (m)

Event 1712, all true hits, v PDG: 14, Ev:7.09 GeV, Eu:4.71 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1712, all true hits and traj., v PDG: 14, E,=7.09 GeV, Eu:4'71 GeV
nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1744, all true hits, v PDG: 14, Ev:1.41 GeV, Eu:O.52 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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Event 1744, all true hits and traj., v PDG: 14, E,=1.41 GeV, Eu:O'SZ GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,

_____________________________________________

4 6 8 10 12 14 16 18
z (m)

w

N
ol
Energy deposit (MeV)

N



X (m)

Event 1746, all true hits, v PDG: 14, Ev:2.32 GeV, Eu:O.24 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:11,
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2.32 GeV, Eu:0'24 GeV

Event 1746, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:11,

(A3IN) usodap ABiau3
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X (m)

Event 1749, all true hits, v PDG: 14, Ev:2.69 GeV, Eu:2.44 GeV
nu:14,tgt:1000300640,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1749, all true hits and traj., v PDG: 14, E,=2.69 GeV, Eu:2'44 GeV
nu:14,tgt:1000300640,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1762, all true hits, v PDG: 14, Ev:7.83 GeV, Eu:2.68 GeV
nu:14,tgt:1000260560,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1762, all true hits and traj., v PDG: 14, E =7.83 GeV, E =2.68 GeV

nu:14,tgt:1000260560,N:2212,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1853, all true hits, v PDG: 14, Ev:2.77 GeV, Eu:1.34 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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Event 1853, all true hits and traj., v PDG: 14, E =2.77 GeV, E =134 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 1874, all true hits, v PDG: 14, Ev:3.43 GeV, Eu:1.82 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1874, all true hits and traj., v PDG: 14, E =3.43 GeV, E =1.82 GeV
nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 1903, all true hits, v PDG: 14, Ev:1.42 GeV, Eu:1.35 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1903, all true hits and traj., v PDG: 14, E =1.42 GeV, Eu:1'35 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1930, all true hits, v PDG: 14, Ev:1.28 GeV, Eu:O.81 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 1930, all true hits and traj., v PDG: 14, E =1.28 GeV, Eu=0.81 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 1942, all true hits, v PDG: 14, Ev:1.95 GeV, Eu:O.SO GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:1,
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0.30 GeV

1.95 GeV, Eu

Event 1942, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:1,

(A3IN) usodap ABiau3
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X (m)

Event 1974, all true hits, v PDG: 14, Ev:1.13 GeV, Eu:O.84 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1974, all true hits and traj., v PDG: 14, E =1.13 GeV, E =0.84 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 1988, all true hits, v PDG: 14, Ev:1.54 GeV, Eu:O.14 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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0.14 GeV

1.54 GeV, Eu

Event 1988, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
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X (m)

Event 2003, all true hits, v PDG: 14, Ev:2.72 GeV, Eu:O.68 GeV
nu:14,tgt:1000240520,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2003, all true hits and traj., v PDG: 14, E =2.72 GeV, E =0.68 GeV
nu:14,tgt:1000240520,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2046, all true hits, v PDG: 14, Ev:O.83 GeV, Eu:O.33 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2046, all true hits and traj., v PDG: 14, E =0.83 GeV, Eu:0'33 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2091, all true hits, v PDG: 14, Ev:1.27 GeV, Eu:O.56 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:0,
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x (m)

Event 2091, all true hits and traj., v PDG: 14, E =1.27 GeV, Eu=0.56 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2113, all true hits, v PDG: 14, Ev:O.27 GeV, Eu:O.22 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2113, all true hits and traj., v PDG: 14, E =0.27 GeV, Eu:O'ZZ GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2172, all true hits, v PDG: 14, Ev:1.57 GeV, Eu:1.19 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2172, all true hits and traj., v PDG: 14, E =1.57 GeV, Eu:1'19 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2184, all true hits, v PDG: 14, Ev:1.57 GeV, Eu:O.18 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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0.18 GeV

1.57 GeV, Eu

Event 2184, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
Lo Lo
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X (m)

Event 2185, all true hits, v PDG: 14, Ev:O.32 GeV, Eu:O.ZO GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2185, all true hits and traj., v PDG: 14, E =0.32 GeV, Eu:O'ZO GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2198, all true hits, v PDG: 14, Ev:4.10 GeV, Eu:2.69 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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4.10 GeV, Eu:2'69 GeV

Event 2198, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,

(A3IN) usodap ABiau3
Lo Lo
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X (m)

Event 2207, all true hits, v PDG: 14, Ev:O.92 GeV, Eu:O.74 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2207, all true hits and traj., v PDG: 14, E,=0.92 GeV, E =0.74 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2218, all true hits, v PDG: 14, Ev:3.01 GeV, Eu:2.64 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2218, all true hits and traj., v PDG: 14, E =3.01 GeV, E =2.64 GeV

nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2231, all true hits, v PDG: 14, Ev:1.73 GeV, Eu:O.45 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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0.45 GeV

1.73 GeV, Eu

Event 2231, all true hits and traj., v PDG: 14, E,
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,

(A3IN) usodap ABiau3
Lo Lo
) o\ o —

1
0.5
0

18
z (m)

14 16

12

10

_______________________________________
<t ™ N — o 4_ n_/_ o_o A__.

(w) x



X (m)

Event 2257, all true hits, v PDG: -14, Ev:10.72 GeV, Eu:8.60 GeV
nu:-14,tgt:1000240520,N:2212,q:2(v),proc:Weak[CC],DIS,
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X (m)

Event 2257, all true hits and traj., v PDG: -14, E =10.72 GeV, E =8.60 GeV
nu:-14,tgt:1000240520,N:2212,q9:2(v),proc:Weak[CC],DIS,
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X (m)

Event 2265, all true hits, v PDG: 14, Ev:2.87 GeV, Eu:O.99 GeV
nu:14,tgt:1000250550,N:2112,q9:1(v),proc:Weak[CC],DIS,
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0.99 GeV

2.87 GeV, Eu

nu:14,tgt:1000250550,N:2112,q:1(v),proc:Weak[CC],DIS,

Event 2265, all true hits and traj., v PDG: 14, E,

(A3IN) usodap ABiau3
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X (m)

Event 2322, all true hits, v PDG: 14, Ev:2.37 GeV, Eu:O.93 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:11,
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2.37 GeV, Eu:0'93 GeV

Event 2322, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:11,

(A3IN) usodap ABiau3
Lo Lo
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X (m)

Event 2327, all true hits, v PDG: 14, Ev:2.44 GeV, Eu:O.SO GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2327, all true hits and traj., v PDG: 14, E =2.44 GeV, EN:O.3O GeV

nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,

4r
e,
2k | £,

E ee ® 9

1— dfg %

B @QO

o— |
_1:_
_2:_
_3:_ _____________________________________________
_4:| | | I | 1 1 1 | 1 1 1 | | I | 1 1 1 | 1 1 1 | | I | ]

4 6 8 10 12 14 16 18

z (m)

w

S
(¢b)
=

2582
o
(¢D]
©
>
(@))

2 o
cC
L

1.5

1

0.5

0



X (m)

Event 2364, all true hits, v PDG: 14, Ev:2.84 GeV, Eu:O.ZO GeV
nu:14,tgt:1000260560,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2364, all true hits and traj., v PDG: 14, E,=2.84 GeV, EN:O.ZO GeV
nu:14,tgt:1000260560,N:2212,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2368, all true hits, v PDG: 14, Ev:2.11 GeV, Eu:O.13 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2368, all true hits and traj., v PDG: 14, E =2.11 GeV, E =0.13 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 2470, all true hits, v PDG: 14, Ev:1.77 GeV, Eu:O.36 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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0.36 GeV

1.77 GeV, Eu

Event 2470, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000260560,N:2112,q:1(v),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
Lo Lo
) o\ o —

)

<t ™ N — o 4_ n_/_ o_o

(w) x

12 14 16 18
z (m)

10



X (m)

Event 2472, all true hits, v PDG: 14, Ev:3.96 GeV, Eu:1.25 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2472, all true hits and traj., v PDG: 14, E =3.96 GeV, Eu:1'25 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2489, all true hits, v PDG: 14, Ev:6.95 GeV, Eu:6.39 GeV
nu:14,tgt:1000080160,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2489, all true hits and traj., v PDG: 14, E =6.95 GeV, Eu=6.39 GeV
nu:14,tgt:1000080160,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2496, all true hits, v PDG: 14, Ev:O.38 GeV, Eu:O.SO GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2496, all true hits and traj., v PDG: 14, E =0.38 GeV, Eu:0'30 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2500, all true hits, v PDG: 14, Ev:1.79 GeV, Eu:O.48 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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0.48 GeV

1.79 GeV, Eu

nu:14,tgt:1000260560,N:2112,q:1(v),proc:Weak[CC],DIS,

Event 2500, all true hits and traj., v PDG: 14, E,

(A3IN) usodap ABiau3
Lo Lo
) o\ o —

1
0.5
0

18
z (m)

14 16

12

10

_______________________________________
<t ™ N — o 4_ n_/_ o_o A__.

(w) x



X (m)

Event 2523, all true hits, v PDG: 14, Ev:O.71 GeV, Eu:O.49 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,

____________________________________________

4 6 8 10 12 14 16 18
z (M)

N w
o1
Energy deposit (MeV)

N

=
o

0.5



X (m)

Event 2523, all true hits and traj., v PDG: 14, E =0.71 GeV, Eu:O'49 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2538, all true hits, v PDG: 14, Ev:4.71 GeV, Eu:3.24 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2538, all true hits and traj., v PDG: 14, E =4.71 GeV, E =3.24 GeV
nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2563, all true hits, v PDG: 14, Ev:3.01 GeV, Eu:2.39 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:1,
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X (m)

Event 2563, all true hits and traj., v PDG: 14, E =3.01 GeV, E =2.39 GeV

nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:1,
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X (m)

Event 2575, all true hits, v PDG: 14, Ev:1.48 GeV, Eu:O.32 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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Event 2575, all true hits and traj., v PDG: 14, E,=1.48 GeV, Eu:0'32 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2603, all true hits, v PDG: 14, Ev:O.23 GeV, Eu:O.15 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2603, all true hits and traj., v PDG: 14, E =0.23 GeV, E =0.15 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2622, all true hits, v PDG: 14, Ev:1.84 GeV, Eu:O.79 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,

____________________________________________

4 6 8 10 12 14 16 18
z (M)

N w
o1
Energy deposit (MeV)

N

=
o

0.5



X (m)

Event 2622, all true hits and traj., v PDG: 14, E =1.84 GeV, Eu:0'79 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2645, all true hits, v PDG: 14, Ev:7.60 GeV, Eu:5.30 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2645, all true hits and traj., v PDG: 14, E =7.60 GeV, Eu:5.30 GeV
nu:14,tgt:1000260560,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2677, all true hits, v PDG: 14, Ev:2.87 GeV, Eu:2.82 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,

____________________________________________

4 6 8 10 12 14 16 18
z (M)

N w
o1
Energy deposit (MeV)

N

=
o

0.5



X (m)

Event 2677, all true hits and traj., v PDG: 14, E =2.87 GeV, E =2.82 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2681, all true hits, v PDG: 14, Ev:1.53 GeV, Eu:O.76 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2681, all true hits and traj., v PDG: 14, E =1.53 GeV, E =0.76 GeV
nu:14,tgt:1000260560,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 2693, all true hits, v PDG: 14, Ev:5.21 GeV, Eu:O.24 GeV
nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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5.21 GeV, Eu:0'24 GeV

Event 2693, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2212,q:1(v),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
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X (m)

Event 2701, all true hits, v PDG: 14, Ev:3.37 GeV, Eu:3.06 GeV
nu:14,tgt:1000240520,N:2112,proc:Weak|[CC],QES,
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3.06 GeV

3.37 GeV, Eu

Event 2701, all true hits and traj., v PDG: 14, E,
nu:14,tgt:1000240520,N:2112,proc:Weak[CC],QES,

(A3IN) usodap ABiau3
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X (m)

Event 2711, all true hits, v PDG: 14, Ev:2.67 GeV, Eu:2.13 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2711, all true hits and traj., v PDG: 14, E =2.67 GeV, Eu:2'13 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2718, all true hits, v PDG: 14, Ev:O.94 GeV, Eu:O.73 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2718, all true hits and traj., v PDG: 14, E, =0.94 GeV, E =0.73 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2737, all true hits, v PDG: 14, Ev:1.43 GeV, Eu:O.23 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2737, all true hits and traj., v PDG: 14, E =1.43 GeV, E =0.23 GeV

nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2752, all true hits, v PDG: 14, Ev:3.41 GeV, Eu:O.62 GeV
nu:14,tgt:1000250550,N:2112,q9:1(v),proc:Weak[CC],DIS,
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0.62 GeV

3.41 GeV, Eu

Event 2752, all true hits and traj., v PDG: 14, E,
nu:14,tgt:1000250550,N:2112,q:1(v),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
Lo Lo
) o\ o —

1
0.5
0

18
z (m)

14 16

12

10

_______________________________________
<t ™ N — o 4_ n_/_ o_o A__.

(w) x



X (m)

Event 2755, all true hits, v PDG: 14, Ev:O.96 GeV, Eu:O.36 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2755, all true hits and traj., v PDG: 14, E =0.96 GeV, E =0.36 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 2775, all true hits, v PDG: 14, Ev:1.07 GeV, Eu:O.60 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2775, all true hits and traj., v PDG: 14, E =1.07 GeV, E =0.60 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2803, all true hits, v PDG: 14, Ev:1.99 GeV, Eu:1.15 GeV
nu:14,tgt:1000180400,N:2000000201,proc:Weak[CC],MEC,
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X (m)

Event 2803, all true hits and traj., v PDG: 14, E =1.99 GeV, E =1.15GeV
nu:14,tgt:1000180400,N:2000000201,proc:Weak[CC],MEC,
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X (m)

Event 2833, all true hits, v PDG: 14, Ev:O.31 GeV, Eu:O.16 GeV
nu:14,tgt:1000240520,N:2112,proc:Weak|[CC],QES,
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X (m)

Event 2833, all true hits and traj., v PDG: 14, E =0.31 GeV, E =0.16 GeV
nu:14,tgt:1000240520,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2840, all true hits, v PDG: 14, Ev:9.63 GeV, Eu:8.64 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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8.64 GeV

9.63GeV, E,

Event 2840, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,

(A3IN) usodap ABiau3
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X (m)

Event 2849, all true hits, v PDG: 14, Ev:1.39 GeV, Eu:O.28 GeV
nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2849, all true hits and traj., v PDG: 14, E =1.39 GeV, E =0.28 GeV
nu:14,tgt:1000180400,N:2212,q:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2855, all true hits, v PDG: 14, Ev:2.97 GeV, Eu:O.14 GeV
nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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2.97 GeV, Eu:0'14 GeV

Event 2855, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2212,q:1(v),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
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X (m)

Event 2856, all true hits, v PDG: 14, Ev:4.68 GeV, Eu:3.32 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2856, all true hits and traj., v PDG: 14, E =4.68 GeV, E =3.32 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2881, all true hits, v PDG: 14, Ev:1.48 GeV, Eu:O.71 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2881, all true hits and traj., v PDG: 14, E =1.48 GeV, Eu:O'71 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2945, all true hits, v PDG: -14, EV:7.25 GeV, Eu:3.68 GeV
nu:-14,tgt:1000260560,N:2212,q:-1(s),proc:Weak[CC],DIS,
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X (m)

Event 2945, all true hits and traj., v PDG: -14, E =7.25 GeV, E, =3.68 GeV
nu:-14,tgt:1000260560,N:2212,q:-1(s),proc:Weak[CC],DIS,
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X (m)

Event 2967, all true hits, v PDG: 14, Ev:1.72 GeV, Eu:1.44 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2967, all true hits and traj., v PDG: 14, E,=1.72 GeV, Eu:1'44 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 2982, all true hits, v PDG: 14, Ev:2.58 GeV, Eu:O.18 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 2982, all true hits and traj., v PDG: 14, E =2.58 GeV, E =0.18 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 3054, all true hits, v PDG: 14, Ev:2.24 GeV, Eu:2.14 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3054, all true hits and traj., v PDG: 14, E =2.24 GeV, Eu:2'14 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3059, all true hits, v PDG: 14, Ev:O.76 GeV, Eu:O.28 GeV
nu:14,tgt:1000180400,N:2000000200,proc:Weak[CC],MEC,
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0.76 GeV, E =0.28 GeV

Event 3059, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2000000200,proc:Weak[CC],MEC,

(A3IN) usodap ABiau3
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X (m)

Event 3105, all true hits, v PDG: 14, Ev:2.37 GeV, Eu:O.35 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:7,
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2.37 GeV, Eu:0'35 GeV

Event 3105, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:7,

(A3IN) usodap ABiau3
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X (m)

Event 3135, all true hits, v PDG: 14, Ev:3.61 GeV, Eu:2.45 GeV
nu:14,tgt:1000260560,N:2112,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3135, all true hits and traj., v PDG: 14, E =3.61 GeV, E =2.45 GeV
nu:14,tgt:1000260560,N:2112,q:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3159, all true hits, v PDG: 14, Ev:1.07 GeV, Eu:O.52 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3159, all true hits and traj., v PDG: 14, E =1.07 GeV, Eu:O'SZ GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3164, all true hits, v PDG: 14, Ev:1.56 GeV, Eu:1.39 GeV
nu:14,tgt:1000060120,N:2112,proc:Weak|[CC],QES,
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X (m)

Event 3164, all true hits and traj., v PDG: 14, E =1.56 GeV, Eu:1'39 GeV
nu:14,tgt:1000060120,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3167, all true hits, v PDG: 14, Ev:2.57 GeV, Eu:1.40 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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1.40 GeV

2.57 GeV, Eu

nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,

Event 3167, all true hits and traj., v PDG: 14, E,

(A3IN) usodap ABiau3
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X (m)

Event 3199, all true hits, v PDG: 14, Ev:1.08 GeV, Eu:O.53 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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Event 3199, all true hits and traj., v PDG: 14, E =1.08 GeV, E =0.53 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3200, all true hits, v PDG: 14, Ev:2.52 GeV, Eu:1.73 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 3200, all true hits and traj., v PDG: 14, E =2.52 GeV, E =1.73 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],RES,res:0,
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X (m)

Event 3208, all true hits, v PDG: 14, Ev:2.57 GeV, Eu:O.45 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3208, all true hits and traj., v PDG: 14, E =2.57 GeV, E =0.45 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 3261, all true hits, v PDG: 14, Ev:3.60 GeV, Eu:3.54 GeV
nu:14,tgt:1000280590,N:2112,proc:Weak|[CC],QES,
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X (m)

Event 3261, all true hits and traj., v PDG: 14, E =3.60 GeV, Eu:3'54 GeV
nu:14,tgt:1000280590,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3281, all true hits, v PDG: 14, Ev:1.77 GeV, Eu:1.25 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 3281, all true hits and traj., v PDG: 14, E =1.77 GeV, Eu:1'25 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 3334, all true hits, v PDG: 14, Ev:1.69 GeV, Eu:1.45 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3334, all true hits and traj., v PDG: 14, E =1.69 GeV, E =1.45 GeV
nu:14,tgt:1000260560,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3362, all true hits, v PDG: 14, Ev:29.20 GeV, Eu:29.06 GeV
nu:14,tgt:1000240520,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3362, all true hits and traj., v PDG: 14, E =29.20 GeV, Eu=29.06 GeV
nu:14,tgt:1000240520,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3366, all true hits, v PDG: 14, Ev:1.49 GeV, Eu:1.27 GeV
nu:14,tgt:1000060120,N:2112,proc:Weak|[CC],QES,
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X (m)

Event 3366, all true hits and traj., v PDG: 14, E =1.49 GeV, E =1.27 GeV
nu:14,tgt:1000060120,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3380, all true hits, v PDG: 14, Ev:2.18 GeV, Eu:1.12 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3380, all true hits and traj., v PDG: 14, E =2.18 GeV, E=1.12 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3385, all true hits, v PDG: 14, Ev:4.36 GeV, Eu:2.09 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3385, all true hits and traj., v PDG: 14, E =4.36 GeV, E =2.09 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 3445, all true hits, v PDG: 14, Ev:2.55 GeV, Eu:2.20 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3445, all true hits and traj., v PDG: 14, E =2.55 GeV, Eu:2'20 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],QES,
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X (m)

Event 3449, all true hits, v PDG: 14, Ev:6.09 GeV, Eu:4.81 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:5,
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X (m)

Event 3449, all true hits and traj., v PDG: 14, E =6.09 GeV, E =4.81 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:5,
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X (m)

Event 3466, all true hits, v PDG: 14, Ev:5.87 GeV, Eu:2.49 GeV
nu:14,tgt:1000240520,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3466, all true hits and traj., v PDG: 14, E =5.87 GeV, E =2.49 GeV
nu:14,tgt:1000240520,N:2212,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3474, all true hits, v PDG: -14, EV:2.64 GeV, Eu:1.17 GeV
nu:-14,tgt:1000260560,N:2112,q:2(v),proc:Weak[CC],DIS,
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1.17 GeV

2.64 GeV, Eu

Event 3474, all true hits and traj., v PDG: -14, E,

nu:-14,tgt:1000260560,N:2112,9:2(v),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
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X (m)

Event 3485, all true hits, v PDG: 14, EV:2.48 GeV, E“:1.93 GeV
nu:14,tgt:1000260560,N:2000000201,proc:Weak[CC],MEC,res:0,
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X (m)

Event 3485, all true hits and traj., v PDG: 14, E =2.48 GeV, Eu:1'93 GeV
nu:14,tgt:1000260560,N:2000000201,proc:Weak[CC],MEC,res:0,

|
w

|
N
Ul

&

o®
@
|
N

1.5

____________________________________________

I|III|III|III|III|III|III|III|I O

4 6 8 10 12 14 16 18
z (M)

Energy deposit (MeV)



X (m)

Event 3491, all true hits, v PDG: 14, Ev:2.82 GeV, Eu:O.24 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,

____________________________________________

4 6 8 10 12 14 16 18
z (M)

N w
o1
Energy deposit (MeV)

N

=
o

0.5



2.82 GeV, Eu:0'24 GeV

Event 3491, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,

(A3IN) usodap ABiau3
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X (m)

Event 3547, all true hits, v PDG: 14, Ev:3.11 GeV, Eu:1.66 GeV
nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,
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1.66 GeV

3.11 GeV, Eu

Event 3547, all true hits and traj., v PDG: 14, E,

nu:14,tgt:1000180400,N:2112,proc:Weak[CC],RES,res:0,

(A3IN) usodap ABiau3
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X (m)

Event 3551, all true hits, v PDG: 14, Ev:2.28 GeV, Eu:O.82 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3551, all true hits and traj., v PDG: 14, E =2.28 GeV, E =0.82 GeV
nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,
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X (m)

Event 3557, all true hits, v PDG: 14, Ev:2.29 GeV, Eu:O.17 GeV
nu:14,tgt:1000180400,N:2112,9:1(v),proc:Weak[CC],DIS,
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0.17 GeV

2.29 GeV, Eu

nu:14,tgt:1000180400,N:2112,q:1(Vv),proc:Weak[CC],DIS,

Event 3557, all true hits and traj., v PDG: 14, E,

(A3IN) usodap ABiau3
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X (m)

Event 3619, all true hits, v PDG: 14, Ev:1.94 GeV, Eu:1.46 GeV
nu:14,tgt:1000240520,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 3619, all true hits and traj., v PDG: 14, E =1.94 GeV, E =1.46 GeV
nu:14,tgt:1000240520,N:2212,proc:Weak[CC],RES,res:0,
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X (m)

Event 3637, all true hits, v PDG: 14, Ev:2.76 GeV, Eu:O.Sl GeV
nu:14,tgt:1000180400,N:2212,q9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3637, all true hits and traj., v PDG: 14, E =2.76 GeV, E =0.31 GeV

nu:14,tgt:1000180400,N:2212,9:1(v),proc:Weak[CC],DIS,
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X (m)

Event 3642, all true hits, v PDG: 14, Ev:1.47 GeV, Eu:O.23 GeV
nu:14,tgt:1000180400,N:2212,proc:Weak[CC],RES,res:15,
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1.47 GeV, Eu:O'ZS GeV

Event 3642,